Détails du Calcul de |la Pénalité

Identité
12 | FEREY-ACCART ANTOINE
5 [PETIT-JEAN LOUIS
13 | BONNEMERE ANATOLE

Tps P.Insc  P.Retenu P.Cse Diff P.Final Progres

u1s | 50.03| 4148 17.97 17.97

u14 55.33 25.81 25.81 30.46 -4.65 30.46 RG]

uw4 | s57.02| 7042 34.45 34.45

S.
1 M
2 M
3 M
4|  a|VILLAUME JEANNE F|ui2 | sse2 40.9 409| 38.22
5| 15|DUPON FABRICE M| vH | 5876 3855 38.55
6| 2|ORNY CORDIER MARTIN M| U0 | s9.51 40.32 40.32
7| 8|LEBOURGEOIS SIMON M| U4 | 1:00.87 43.53 43.53
8|  7|JULIEN GARANCE F| uis [ 10353 5578 5578 4980
9| 6|VILLAUME MATHILDE F|ui4 | 1:0365| 5246| 5246 5008
10| 3|DuPON SACHA M| U4 | 1:03.84 50.53 50.53
11| 1|[MORET COLINE F | u1o [ 1:04.38 51.80 51.80
12| 10[LEROY MAXIMILIEN M| U14 | 1:05.30 53.97 53.97
13| 9|CASTILLO PHILOMENE F | u14 | 1:05.58 54.63 54.63
| M1 (3/10/20%) : Moyenne des Différences | 1.60|

| Pénalité de I'Epreuve : 0.00
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